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Unit 6 Exercise


Unit 6  Financing
Introduction to insurance: Adverse selection exercises
Props:  
· 15 health expectations cards (5 copies of the 3 cards below)
· 15 accident cards. 10 say “$0” 2 say “$90”  1 says “70”, 1 says “120”, 1 says “80”

· 15 sets of $100 in play money

· health insurance cards for round 1 that say “Price $9.00, This insurance card guarantees that the insurer will pay for all preventive and curative health services this year.”
· 15 blank insurance cards for round 2
· 3 poster boards for insurance agents to write their advertisements

· 3 markers

· 3 white coats for the three doctors

Round 1 – Patients with no uncertainty and community rated  insurance
Step 1) 15  students are assigned to be the patients.  1 is the insurer. 3 are the doctors in a group practice.
Step 2) Each patient is assigned to receive $100 in play money

Step 3) Each patient gets a “Health Expectations” Card—there are 3 of each kind as listed below.  Patients must keep their health expectations secret.  The cards list the complete sum of a what a patient will have to spend for health care in the coming year.
	Health Expectations
	Health Expectations
	Health Expecations

	· “Perfectly Healthy”

Expect to spend

 $1 for prevention


	· “Slightly Sick” 

Expect to spend

 $1 for prevention

 $ 5 for cures


	· “Very Sick”

Expect to spend

 $0 for prevention

 $ 20 for cures




The total cost of care for this community is $135. 
The actuarially fair premium is $9.00 for community rated insurance  
Step 4) The insurer offers to sell each student a community rated insurance policy for $9.00.  The insurance policies say:  

Community Rated Insurance: Price $9.00.  This insurance card guarantees that the insurer will pay for all preventive and curative health services this year.

Step 5) Any patients who want to buy the policy are asked step forward and buy it from the teacher.
Step 6)  Uninsured patients pay the doctors what their health expectations cards read

Step 7)  Patient with the most money gets a prize.
Questions for the class:

1) Why is the total cost of care for the community $135?

2) How was the actuarially fair premium determined at $9.00

3) What is to prevent the doctor from selling extra preventive services to the healthy patients?  Is this a problem?

4) Look at the students who bought insurance.  Guess what their health expectations cards read.

Round 2 – Patients with uncertainty and community rated  insurance
Step 1) Shuffle all the cards
Step 2) 15  new students are assigned to be the patients/ 3 are the doctors/ 3 are insurers
Step 3) Each patient is assigned to receive $100 in play money

Step 4) Each patient gets a “Health Expectations” Cards
Step 5) Each patient gets an “Accident” envelope which is sealed and not to be opened until later.  Accidents range in size from $0 to $120. Ten accidents cost $0.  Other values of accidents are damages of $70, $80, $90, $90,and $120. 

Sum of 70+80+ 90+90+120=$450 . Sum of $450 + $135=$585.

Patients will not know if they have had an accident until after the insurance market closes.
Step 6) The insurance dealers note that the total cost of health care in the community will now be $585 and the actuarially fair premium is $39.  But they know that they might be able to attract healthy patients if they charge a lower premium, but this is only a good idea if they can offer less than full coverage by making patients pay a share (a copayment) for any of their expenses

  Each insurance dealer goes to a separate corner of the room to decide what to charge for their insurance policies.  They must each decide A) What will be the premium from $0 to $50?  B) What will the patient’s co payment be from 0 to 50%.
They write on their insurance cards and their billboard

Premium is  ___________

Co payment is _________

Step 7) Patients go to the insurance dealer of their choice and buy insurance contracts

Step 8) Patients open their accident envelopes and find out what their medical expenses are.

Step 9) Patients pay the doctor their co payment and ask the insurer to pay the insurance company’s share.

Step 10) Patient with the most money wins a prize.  Insurer with the most money wins a prize

Questions for the class:

1) Did any insurers charge less than the actuarially fair premium?

2) Did charging a lower premium turn out to be a good idea?  (Why or why not?)

3) How much time was taken up with all of the co-payments?  Whose time was taken up?

4) Was there any evidence of adverse selection in the insurance market?
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